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3AANB8HEANTI—X (BEEER)

AN 8HATI—X 3 AN (d[2:0]) = 2 EHIZO>WT, %
D 10 EHIHILT 5 8EDHEA (N[7:0]) ZERKT 5 [EEE,

HEfEx:
AFA HA

d[2] d[1] d[O] n[7] n[6] n[5] n[4] n[3] n[2] n[1] n[O]
o 0 0 O O O O O O o0 1
o 0 1 o o0 O O O 0O 1 ©
o 1 o o0 o0 O O O 1 0 ©
o 1 1 o o 0O O 1 0 0 ©
1 0o 0 0 0O O 1 o O 0 O
1 01 o O 1 o O O O O
1 1. 0o o0 1 o o0 O O 0 O
1 1.1 1 0o 0O 0O 0o O 0 o
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n[7] n[6] n[5] n{4] n[3] n[2] n[1] n[C]

%
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I
I~

3 N7 8 1

d[2] d[1] d[o]

—O0OO00O0O0O0O

O—1O0O0OO0OO

OO0 O0OOO

elolollololele)

QOO0 O—HOOO

QOO0 O—HOO

OOOOOO—HO

OOOO0OOOOH

O—O0O—HO—HO

OO—AHOO

OOOOrArdrdr

d[2]-d[1]-d[0]

N[4]

d[2]-d[1]-d[O]

Nn[O] =

n[7] = d[2] -d[1] - d[C]

d[2] - d[1] - d[O]
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3AN8HANT I—X ([ElEK)

‘timescale 1ns/1ns

module dec38 (d, n);
input [2:0] d;
output [7:0] n;
assign n[0] = ~d[2] & ~d[1] & ~d[0]; // 000
assign n[1] = ~d[2] & ~d[1] & d[0]; // 001
assign n[2] = ~d[2] & d[1] & ~d[0]; // 010
assign n[3] = ~d[2] & d[1] & d[0]; // 011
assign n[4] = d[2] & ~d[1] & ~d[0]; // 100
assign n[5] = d[2] & ~d[1] & d[0]; // 101
assign n[6] = d[2] & d[1] & ~d[0]; // 110
assign n[7] = d[2] & d[1] & d[0]; // 111

endmodule dec38yv
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SAN8ENTI—K (TRIRVF)

‘timescale 1ns/1ns
module dec38_tb;
reg [2:0] d;
wire [7:0] n;
dec38 i0 (d, n);
initial begin
#0 d = O;
#8 $finish;
end
always #1 d = d + 1;
initial begin
$dumpfile ("dec38.vcd");
$dumpvars;
end
endmodule dec38_tbyv
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3 AN B8HAT I—X (K)

% iverilog -Wall -o dec38 dec38_tb.v dec38.v
% vvp dec38
% gtkwave dec38.vcd

d[2:0]
n[7:0]
n[7]
n[6]
n[5]
n[4]
n[3]
n[2]
n[1]
n[0]

AR d=0 d=1 d= d=3 d=4 e =5 d=6 d=7
Hh n[0]=1 n[l]=1 n[2]=1 n[3]=1 n[4]=1 n[5]=1 n[6e]=1 n[7]=1
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e enable; x: K> 4777 (Don't care)

-d[1] - d[C]
-d[1]-d[O]
-d[1] - d[O]
-d[1] - d[C]
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‘timescale 1ns/1ns

module dec38e (d, e, n);

input [2:0] d;
input el
output [7:0] n;

assign n[0]
assign n[1]
assign n[2]
assign n[3]
assign n[4]
assign n[5]
assign n[6]
assign n[7]

® ® ® ® ® ® ® D@

endmodule

PRI

~d[2] & ~d[1]
~d[2] & ~d[1]
~d[2] & d[1]
~d[2] & d[1]
df2] & ~d[1]
dr2] & ~d[1]
dr2] & dr[il
d[2] & d[il

~d[0];
da[o0];
~d[0];
da[o];
~d[0];
da[o0];
~d[o];
d[0]1;

//
//
//
//
//
//
//
//

1_000
1_001
1_010
1_011
1_100
1_101
1_110
1111

dec38ev

) &

SRBCA S R 25

REEEEAP (9)
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AFX—TIMFTEIZ-8TI—K (TRIRVF

‘timescale 1ns/1ns
module dec38e_tb;
reg [2:0] 4;
reg e;
wire [7:0] n;
dec38e i0 (d, e, n);
initial begin
#0 d = 3°b000; e = 1°b1;

#1 d = 3’b001

#1 d = 3°b010

#1 d = 3°b011

#1 d = 3°b100

#1 d = 3°b101

#1 d = 3°b110

#1 d = 3°b111

#1 d = 3’bxxx; e = 1°b0;
#1 $finish;

end
initial begin
$dumpfile ("dec38e.vcd");
$dumpvars;
end dec38e_tbv
endmodule
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A =7 NAFTE3-87 3—X (K

% iverilog -Wall -o dec38e dec38e_tb.v dec38e.v
% vvp dec38e
% gtkwave dec38e.vcd

e=0
n = 00000000
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mux8x32

RNA[2:0] mm QA[31:0]
RNB[2:0]
reg8x32
D[31:0] m»————— D[31:0]
X0~ X7
dec38e
WNI[2:0] D[2:0] NO— EO
N1 — E1
N2 — E2
N3#— E3 QO[31:0] QB[31:0]
N4S— E4 Q1[31:0]
NSH— E5 Q2[31:0]
N6 +— E6 Q3[31.0]
WE E N7Z+— E7 Q4[31.0]
Q5[31:0]
Q6[31:0]
CLK - Q7[31:0]
CLRN e CLRN

A F—T AT E LYRZ T LA RILFTL oY
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S[2:0] == d[2:0]
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wO
wl
w2
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W4
w5
w6

W4
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TILF L oY (B

‘timescale 1ns/1ns

module demux8x1 (we, s, W);
input [2:0] s;
input we;
output [7:0] w;

wire [7:0] n;
dec38 i0 (s, n);

assign w = n & {8{we}};

endmodule

demux8x1l.v

2024 % 11 B 19 H (X)
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TRILFITL Y (TR ERVF)

‘timescale 1ns/1ns
module demux8x1_tb;
reg [2:0] s;
reg we;
wire [7:0] w;
demux8x1 i0 (we, s, W);
initial begin
#0 s = 0; we = 1;
#8 we = 0;
#1 $finish;
end
always #1 s = s + 1;
initial begin
$dumpfile ("demux8x1.vcd");
$dumpvars;
end
endmodule

demux8x1_tb.v

EBR BRSPS REEEEAP (9)
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TYINFT LY (KIE)

% iverilog -Wall -o demux8x1 \
demux8x1_tb.v dec38.v

% vvp demux8x1

% gtkwave demux8x1.vcd

w[7:0]

wl7]

w[6]

w[5]

w[4]

w[3]

w(2]

w[1]

w[o]
AP s=0 s=1 s=2 s=3 s=4 s=5 s=6 s=7 s=0
k71 2 w[O0]=we w[l]=we w[2]=we w[3]=we w[4]=we w[5]=we w[6]=we w[7]=we w[O]=we
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D
Latch Latch Latch Latch Latch
. L‘—\l
Latch Latch Latch Latch Latch
D
Latch Latch Latch Latch
D n3
dec24 1 1 I 1
demux4x1 I D
Latch Latch Latch Latch
. H DO[4] DO[3] DO[2] DO[1]
we: write enable & B B Bl

4 words: 2-bit address A[1:0]: 22 = 4
5 bits/word: data-in DI[4:0]; data-out DO[4:0]
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B8AHNIEANTYI—4K (EBER)

8 AN IHATYI—XK: 8 AN (d[7:0]) DLTFhhr—>
MEL1AZE2HDELT, ZNHD 2 ERIIHILT S 3
By b (n[2:0]) #ERKT 2EEK, EEEX:

AN @#HRHY) 7

d[7] d[e] d[5] d[4] d[3] d[2] d[1] d[O] n[2] n[1] n[O]
@) @) @) O @) @) @) 1 @) @) @)
@) @) @) O @) @) 1 0 @) @) 1
O O O O o 1 o0 o O 1 ©
O O O o 1 o o0 o o 1 1
O O O 1 o O o0 o 1 0 O
O O 1 o O o o0 o0 1 0 1
@) 1 @) 0] O @) @) @) 1 1 @)
1 @) @) O @) @) @) @) 1 1 1

ADFIR: —DDANDADT VT4 7 Th
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AH RS Y) H7
d[7] d[6] d[5] d[4] d[3] d[2] d[1] d[O] n[2] n[1] n[C]
o 0 0 0O O O O 1 o0 0 O
o 0o 0 0O o0 O 1 O o0 0 1
o 0o 0 0o o0 1 o O o0 1 O
o 0o 0 0 1 o 0o O 0 1 1
o 0o 0 1 o o 0O O 1 o0 O
o 0 1 0 o0 o0 O O 1 0 1
o 1 o0 0o o0 o o O 1 1 ©
1 0 0 0 000 0 1 1 1
n[0] = d[1] + d[3] + d[5] + d[7] AFIHIBR:
n[1] = d[2] +d[3] +d[6] +d[7] —D2DANDHN
n[2] = d[4] +dI[5] + d[e] + d[7] TOT4TTHD
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8 A3 ATy I—X ([E]E)

n[O] = d[1] +d[3] + d[5] + d[7]
n[1l] =d[2] +d[3] + d[6] + d[7]
n[2] = d[4] +d[5] + d[6] + d[7]

‘timescale 1ns/1ns

module enc83 (d, n);
input [7:0] d;
output [2:0] n;

dl1] | 4[3] | d[5] | d[7];
df2] | 431 | 46l | d[7]1;
d[4] | daf5] | 4al6] | d[7];

assign n[0]
assign n[1]
assign n[2]

enc83.v

endmodule

20244 118198 (X) 26/46
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https://yamin.cis.k.hosei.ac.jp/lectures/logic/enc83.v

SANIHEANTYyI—X (TRAIRVTF)

‘timescale 1ns/1ns

module enc83_tb;
reg [7:0] 4;
wire [2:0] n;
enc83 i0 (d, n);
initial begin

#0 d = 8’b00000000;
#1 d = 8’b00000001;
#1 d = 8’b00000010;
#1 d = 8’b00000100;
#1 d = 8’b00001000;
#1 d = 8°b00010000;
#1 d = 8’b00100000;
#1 d = 8°b01000000;
#1 d = 8°b10000000;
#1 $finish;

end

initial begin
$dumpfile ("enc83.vcd");
$dumpvars;

d
endmﬁgule enc83_tbv
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B8ANIHATYOI—X (KIF)

% iverilog -Wall -o enc83 enc83_tb.v enc83.v
% vvp enc83
% gtkwave enc83.vcd

d[7:0] 00000000
d(7]
d[e]
d[s]
dr4]
dr3] ¢
d[2]
d[1]
d[e]

n[2:0]

[IRE: d = 00000000, n = 000,
d = 00000001, n =000, XplTZE% L,
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N[O] = d[1] + d[3] +d[5] + d[7]
N[1] = d[2] + d[3] + d[6] + d[7]
Nn[2] = d[4] + d[5] + d[6] + d[7]
r=d[O] +d[1] +d[2] +d[3] +d[4] + d[5] + d[6] + d[7]

AR (HIRH Y) =P
d[7] d[6] d[5] d[4] d[3] d[2] d[1] [O] n[2] n[1] n[O] r
O O O O O O O O O O 0O O
O O O O O O O 1 O O O 1
O O O O O o 1 O O O 1 1
o O O O o 1 0O O O 1 O 1
O O O o 1 O 0O O o 1 1 1
o o o 1 O O O O 1 O O 1
o o0 1 O O O 0 O 1 O 1 1
o 1 O O O O 0O O 1 1 O 1
1 o0 O O O O O O 1 1 1 1
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Nn[O] = d[1] +d[3] + d[5] + d[7]
n[1l] = d[2] +d[3] + d[6] + d[7]
n[2] = d[4] +d[5] + d[6] + d[7]
r=d[0] +d[1] +d[2] + d[3] + d[4] + d[5] + d[6] + d[7]

‘timescale 1ns/1ns

module enc83r (d, n, r);

input [7:0] d;
output [2:0] n;
output r;

assign n[0] = d[1] | d[3] | d[5] | d[7];
assign n[1] = d[2] | d[3] | d[6] | d[7];
assign n[2] = d[4] | d[5] | d[6] | d[7];
assign r =d[0o] | d[1] | d[2] | d[3] |
d[4] | d[5] | d[6] | d[7];

endmodule enc8srv

) =
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‘timescale 1ns/1ns
module enc83r_tb;
reg [7:0] d;
wire [2:0] n;
wire 13
enc83r i0 (d, n, r);
initial begin

= 810000000
finish;

#0 d = 8’b00000000;
#1 d = 8°b00000001;
#1 d = 8°b00000010;
#1 d = 8°b00000100;
#1 d = 8°b00001000;
#1 d = 8°b00010000;
#1 d = 8°b00100000;
#1 d = 8°b01000000;

d

$

end

initial begin
$dumpfile ("enc83r.vcd");
$dumpvars;

end

endmodule enc83r_tbv
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I>a—4% (KEF)

% iverilog -Wall -o enc83r enc83r_tb.v enc83r.v
% vvp enc83r
% gtkwave enc83r.vcd

d[7:0] 00000000
dr7]
d[6]
d[s]
df4]
df3] i E—
df2] -
d[1]
d[e]
n[2:0]
r

d = 00000000, n =000, r = 0;
d = 00000001, n=000,r =1, XplT= %,
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A x—7NftETra—% (EK)

Nn[O] = e - (d[1] +d[3] +d[5] + d[7])
n[1l] = e (d[2] +d[3] +d[6] + d[7])
n[2] = e - (d[4] + d[5] + d[6] + d[7])
= e (d[O] +d[1] +d[2] + d[3] + d[4] + d[5] + d[6] + d[7])

‘timescale 1ns/1ns
module enc83e (d, e, n, r);
input [7:0] d;
input @3
output [2:0] n;
output r;
assign n[0] = e & (d[1] | d[3] | d[5] | d[71);
assign n[1] = e & (d[2] | d[3] | d[6] | d4[71);
assign n[2] = e & (d[4] | d[5] | d[6] | 4[7]);
assign r =e & (d[0] | 411 | 4f2] | 4[3] |
d[4] | d[5] | 4afe] | d[7]);
endmodule enc83ev
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A 2—T7IWftETya—% (FXH)

‘timescale 1ns/1ns
module enc83e_tb;
reg [7:0] d;
reg e;
wire [2:0] n;
wire
enc83e i0 (d e, n, r);
initial begin

#0 d = 8°b00000000; e = 1;
#1 d = 8°b00000001;

#1 d = 8°b00000010;

#1 d = 8°b00000100;

#1 d = 8°b00001000;

#1 d = 8°b00010000;

#1 d = 8°b00100000;

#1 d = 8°b01000000;

#1 d = 8°b10000000;

#1 d = 8’bxxxxxxxx; e = 0;
#1 $finish;

end

initial begin
$dumpfile ("enc83e.vcd");
$dumpvars;

end

endmodule enc83e_tbv
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A2 —7IfFETY O—& (K

% iverilog -Wall -o enc83e enc83e_tb.v enc83e.v
% vvp enc83e
% gtkwave enc83e.vcd

d[7:0]
d[7]
d[e]
d[5]
d[4]
d[3]
d[2]
d[1]
d[e]

e

n[2:0]

-
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77AF VT4 T a—XK

AF (HIBRAL) H 7

e d[7] d[e] d[5] d[4] d[3] d[2] d[1] d[O] n[2] n[1] n[O] r
1 O @) O O 0 @) @) O ) 0 O O
1 O 0 ) ) 0] @) ) 1 0 0] 0O 1
1 O 0 @) ) 0 @) 1 X 0 O 1 1
1 O 0] @) ) 0] 1 X X 0 1 0O 1
1 O 0 @) ) 1 X X X 0 1 1 1
1 O @) O 1 X X X X 1 @) O 1
1 O 0] 1 X X X X X 1 0] 1 1
1 O 1 X X X X X X 1 1 o 1
1 1 X X X X X X X 1 1 1 1
0O X X X X X X X X 0 0 O O
d[7) DEERIERL (774 F U T 1) 1—FS\L. d[0] DEFLIERLIZ—FEL
n[2] = e (d[7] +d[7]-d[6] +d[7]-d[e] - d[5] +d[7]-d[6] - d[5] - d[4])
= e (d[7] + d[6] + d[6] - d[5] + d[6] - d[5] - d[4])
= e (d[7] 4+ d[6] + d[5] + d[5] - d[4])
= e (d[7] +d[6] +d[5] +d[4]) FE-REKRER P27 2508
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Nn[2] =e- (d[7] +d[6] +d[5] + d[4])
n[1l=e-(J+[+0-00-0+0-00-0D
O] e-(J+0-0+0-0-0U+0-0-00-0D

=e- (d[7] +d[6] + d[5] + d[4] + d[3] + d[2] + d[1] + d[O])

‘timescale 1ns/1ins
module enc83p (d, e, n, r);
input [7:0] d;
input @8
output [2:0] n;
output r;
assign n[2] = e & (d[7] | dle] | d[5] | d[4]);
assignnli]l =e & (| | & & | & &);
assign nf0]l =e & (| & | & & | & & & );
assign r =e & (d[7] | da[6] | al5] | a4l |
d[3] | d[2] | 4a[11 | afol);
endmodule ngE%%le
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‘timescale 1ns/1ns
module enc83p_tb;
reg [7:0] d;

reg

e;

wire [2:0] n;

wire

enc83p i0 (d e, n, r);
initial begin

#0
#1
#1
#1
#1
#1
#1
#1
#1
#1
#1
end

LI (| T N | I 1 B

87b00000000;
87b00000001 ;
8’b0000001x;
8’b000001xx;
8’b00001xxx;
8’b0001xxxx;
8°b001xxxXX;
8’b01XXXXXX;
8’b1XXXXXXX;
= 8’bXXXXXXXX;

finish;

initial begin

$dumpfile ("enc83p.vcd");

$dumpvars;

end
endmodule

enc83p_tbv
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% iverilog -Wall -o enc83p enc83p_tb.v enc83p.v
% vvp enc83p
% gtkwave enc83p.vcd

d[7:0]
d[7]
dre)
d[5]
dr4]
d[3]
d[2]
d[1]
d[e]

e

n[2:0]
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ANHIBRA L DERE - (FEDASN /X —
ANEEBDH 9 (1£Kdek 84&n D (d[7:0)])
AHEERZ—> 0¥ : 29 =512

A (HIBRA L) IR — > D

e d[7] d[6] d[5] d[4] d[3] d[2] d[1] d[O]

1 0O 0 @) 0 0 0 @) 0 1
1 0O @) @) 0 0 o) @) 1 1
1 0 0 @) 0 0 @) 1 X  X»1{E 2
1 O @) @) 0 @) 1 X X  XH2E 4
1 0 @) 0 0 1 X X X  XH 3 E 8
1 O @) @) 1 X X X X X»4ME 16
1 O @) 1 X X X X X XH»H5M@ 32
1 O 1 X X X X X X X»OofE 64
1 1 X X X X X X X X»n7M@E 128
0 x X X X X X X X X»A8ME 256

S5 1+1424+44+8+16+32+64+128+256=512=2°
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21 A& (Interrupt) 3>~ k@ —F (Controller)

enc83p CPU
Mouse interrupt request — dO nO
— d1 Nl ——> Interrupt vector
—id2 n2
B 1) AKRER —" d3 r — Interrupt request
—id4
— d5
Keyboard interrupt request —» d6
System timer interrupt request —s d7 e Interrupt enable
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=

T A—XETO—X

5]

T3—% (n=2")
AX—7NMFETa-X
TRLVFTL Y

Iva1—%(2"=n)
7 - e B
T77AF VT4 a—X

TEER IR REEEEAPT (9)

3-8 decoder
— dO n0 ——
—dl nl ——
—d2 n2 ——

n3 ——
ng ——

n5 ——
n6 ——

—e n7 ——

8-3 encoder

—dO n0O ——
—dl nl ——
—d2 n2 ——
—d3 —
— d4
—d5
— d6
—d7

— e
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SANZIEATFTAFYTF 4Ty aA—KEHFLIHERITS T 2
L—>av LT Faw (P37-P41 #58R),

enc83p

Nn[2] = e - (d[7] +d[6] +d[5] + d[4]) —d[70]  n[20] —»
—e-(J+0+0-0-0+000D E |
ol =e-(J+-00+-0-0+0-00-0D

=e . (d[7] +d[6] +d[5] +d[4] + d[3] + d[2] + d[1] + d[O])

EVa—I)&IFenc83p il BT L,
TRARRYUF enc83p_tbyv ZE->TFE Ly,
BEEXRD S N[2]. n[1]. n[0] DEHBEEZENTTF I,
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2 X (100 =)

Nn[2] =e- (d[7] +d[6] +d[5] + d[4])
n[1l=e-(J+[+0-00-0+0-00-0D
nO] e-(J+0-0+0-0-0U+0-0-00-0D

=e- (d[7] +d[6] + d[5] + d[4] + d[3] + d[2] + d[1] + d[O])

‘timescale 1ns/1ns
module enc83p (d, e, n, r);
input [7:0] d;
input @8
output [2:0] n;
output Tr;
assign n[2] = e & (d[7] | dle] | d[5] | d[4]);
assignnli]l =e & (| | & & | & &);
assign nf0]l =e & (| & | & & | & & & );
assign r =e & (d[7] | da[6] | al5] | a4l |
df3] | df2] | d[1] | d[0]);
endmodule enc83pv
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% iverilog -Wall -o enc83p enc83p_tb.v enc83p.v
% vvp enc83p
% gtkwave enc83p.vcd

d[7:0]
d[7]
d[6]
d[s]
dr4]
d[3]
d[2]
d[1]
d[e]

e

n[2:0]
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